1.experiment

NO,.

V2 [ml] pH1

Slunecnice 1 6.18 4

Helianthus anuus 2 6.18 3.81

3 6.18 3.59

2.experiment NO3- zasobni = 210
NO;.

E1l [mV] E2 [mV] |c1 [mmol.l"] |c2 [mmol.I"]

Slunecnice 1 210 213
Helianthus anuus 2 210 218
3 210 223
Cas zaloZeni: 3/22/2017 16:15 ¢as ukonceni: 3/.
{ jedn. Kalibrace
(mM) roztok KNO3 0.075 0.15 0.3 0.6 0.9

mV 1.mereni 287 265 256 237 230
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5.73

Doba inkubace

Vp

t celkem (h)

V1 [ml]

V2 [ml]

m [g] [umol. g'l. h'l]

100 94 0.08
100 93] 0.071
100 92| 0.069
23/2017 8:45
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